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1. Itis mandatory to fill one option for each question.

2. All questions carry equal marks.

3.  Only one answer is to be given for each question. If more than
one answers are marked, it would be treated as wrong answer.

4. The OMR Answer Sheet is inside this Question Booklet.
When you are directed to open the Question Booklet, take out
the Answer Sheet and fill in the particulars carefully with Blue
Ball Point Pen only. !

5.  Please correctly fill your Roll Number in OMR Answer Sheet.
Candidates will themselves be responsible for filling wrong
Roll No.

6. Use of Correction Pen/Whitener in the OMR Answer
Sheet is strictly forbidden.

7.  1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8. Each question has five options marked as 1, 2, 3, 4, 5. You
have to darken only one circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

9. If you are not attempting a question then you have to darken
the circle ‘5’. If none of the five circles is darkened, one third
(1/3) part of the marks of question shall be deducted.

10.* After solving question paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
each of the questions. Extra time of 10 minutes beyond
scheduled time, is provided for this.

11. A candidate who has not darkened any of the five circles in
more than 10% questions shall be disqualified.

12. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Windi and English Versions of the
question, the English Version will be treated as standara,

13. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will
be strictly dealt with as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged against

him/her in the Police Station and he/she would be liable to be prosecuted
under Rajasthan Public Examination (Measures for Prevention of

Unfair means in Recruitment) Act, 2022 & any other laws

applicable and Commission’s Rules-Regulations. Commission may

also debar him/her permanently from all future examinations.
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Eccentricity (e) of a conic section is :

(1) Equals the ratio of the distance
of the point from the directrix to
the distance of the point from the
focus.

(2) Equals the ratio of the distance
of the point from the focus to the
distance of the point from the
directrix.

(3) Equals the sum of the distances
of the point from the focus and
the directrix.

(4) Equals the product of the
distance of the point from the
focus and the distance of the
point from the directrix.

(5) Question not attempted

The form factor of a sinusoidal wave
is approximately :

(1) 1.41 (2) 0.707

(3) 1:11 (4) 1.00

(5) Question not attempted

Which of the following options is
NOT true for electromotive force ?

(1) It is the work done by a source in
taking a unit charge once round
the complete circuit.

(2) It is equal to the maximum
potential difference between the
terminals of a source when it is
in an open circuit.

(3) It exists even when the circuit is
not closed.

(4) It originates from the
electrostatic field set up by the
charges accumulated on the two
terminals of the source.

(5) Question not attempted
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wsh foRga T@ 3R T Eet HwEe: 100 W,
220 V 3T 1000 W, 220 Vs & | X
1 fee 2

(1) =@ (2) e 9 3frs
(3) T@AHH (4) TE % SR
(5) rgeiRa =

wite] fergga g 3 s forgga <t
THEE AR ?

(1) ate (2) ferettaie

(3) freimie-gar  (4) Sw1/3%s

(5) rgeiva we

T gifen o 50 fime ® 300 fhelt 9@
%I AT BT ? | I YR 2 TR R, dt
e o o e fawaiar s I |
(1) 40V (2) 50V

(3) 30V (4) 60V

(5) Frgaita yed

TH 4 Q 9 WieRius § ¥ 99 5 TRR
U Sl ], 9 SEd BN 9w % &9
HHAAE:

(1) 6.254dTC (2) 20dfe
(3) 80dTe (4) 100_‘q"1'7:’
(5) 3 g

|
I 2 e | 240 g e wafed | s,

BT 7, o 98 aTelt 9T %1 5 8

(1) 120 A (2) 480 A
(3) 2A (4) 8A
(5) 3rgriia I

S e — ————  ——

An electric fan and a heater are
marked 100 W, 220 V and 1000 W,
220 V respectively. The resistance of
the heater is :

(1) zero

(2) greater than that of fan

(3) less than that of fan

(4) equal to that of fan

(5) Question not attempted

The unit of electrical energy used in
domestic electrical applications is :
(1) Watt (2) Kilowatt

(3) Kilowatt-hour (4) Joule/second
(5) Question not attempted

A heating element supplies 300
kiloJoules in 50 min. Find the
potential difference across the
element when current is 2 amperes.

(1) 40V (2) 50V
(3) 30V (4) 60V
(5) Question not attempted
The power dissipated by a resistor of
4 Q when a current of 5 A passes

through it is :
(1) 6.25 W (2) 20w
(3) 80w (4) 100 W.

(5) Question not attempted

A charge of 240 coulomb is
transferred in 2 minutes. The current
flowing is :

(1) 120 A (2) 480 A

(3) 2A (4) 8A

(5) Question not attempted
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12.

T feg umr 31k (DC arc) % aieear 3R
YT 1 HaY A= yohR A =Fed T g

V=44 +—3-Iga’|?g

3 T wlaly 3 @1y Sofsea & 100 V 6t
Tgfd & et T @ | AR 31 3Ry
W dieedl 99 @, o gferiy 1 A 9=
(ohmic value) =1 &FTT ?

(1) 50 Q (2) 30Q |
(3) 10Q 4) 5Q
(5) TG 3T

freats =1 ar fram (KCL) e fagr=
WA & ?

(1) St 6 G0 (2) T TE
(3) AW WU (4) FEEH H GE
(5) It S

fm & dw Vv, §@ FH F g
TRETE % diees I 1 ST A |

2kQ 1kQ
= —AVA T AN

+eca

b

5

1

Vab

D C
(1) 16V
(3) 18V
(

5) I S

frafafea § @ =9 @ IE f=m (rule)
g gEAT % fre R 7

(1) IE rule 45 (2) IE rule 30

(3) IE rule 42 (4) IE rule 35

(5) IraRa S

(2) 14V
(4) 20V
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12

A direct current arc has a
voltage/current relation expressed as :

V=44 +%volts

It is connected in series with a
resistor across a 100 V supply. If
‘voltages across the arc and resistor
are equal, the ohmic value of the
resistor will be :

(1) 50 Q (2) 30Q
(3) 10Q 4) 5Q
(5) Question not attempted

Kirchhoff’s Current Law (KCL) is
based on the principle of :

(1) Conservation of Energy

(2) Conservation of Momentum

(3) Conservation of Charge

(4) Conservation of Mass

(5) Question not attempted

Use Kirchhoff’s voltage law to find
voltage V" in fig.
A A2|<Q

]
|

1kQ
AV
Vab

3 kQ
b

D (o]
(1) 16V (2) 14V
(3) 18V (4) 20V
(5) Question not attempted

Which of the following IE rules
stands for “Danger Notices” ?

(1) IE rule 45 (2) IE rule 30
(3) IE rule 42 (4) IE rule 35
(5) Question not attempted
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13.

14.

15.

16.

a7

Four electric cells, each having an
internal resistance of 0.2 Q and
e.m.f. of 3.2 V, are connected in
series. Determine the total e.m.f.

(1) 3.2V (2) 6.2V
(3) 128V 4) 0V
(5) Question not attempted

The negative pole of a dry cell is
made of :

(1) Carbon (2) Copper

(3) Zinc (4) Mercury

(5) Question not attempted

Series connection of cells

(1) Increases the efficiency.

(2) Increases the voltage output.
(3) Increases the current output.

(4) Decreases the internal resistance.
(5) Question not attempted

The terminal potential difference of a
cell of e.m.f. 2 V and internal resistance
0.2 Q when supplying a current of
5 A will be :

(1) 215V (2) 2V
(3) 1.0V (4) 25V
(5) Question not attempted

Which of the following is a passive
component ?

(1) Transistor

(2) Operational amplifier
(3) Diode

(4) Inductor

(5) Question not attempted
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19. =Tl 8 ST A HTHROT R
(1) R sgr s g
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(4) Terega wraroTen guTA < forg
(5) ITFRE S '
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2 e e hrg <1 3T Heh T I -
| -1l
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18.

19.

20.

have DR
temperature coefficient of resistance.

Insulators
(1) zero (2) negative
(4) No relation
(5) Question not attempted

(3) positive

Doping in semi-conductors is done to :
(1) Increase resistance

(2) Decrease conductivity

(3) Improve insulation

(4) Modify electrical properties

(5) Question not attempted

Match List — | with List — Il and select
the correct answer using the codes
given below the lists :

List -1 List — Il
(Variable (Circuit Symbol)
Resistance) .
A. strain gauge | |. o—ﬁM:-—o
B. thermistor li. o—PA\AN\}—o

C. potentiometer

D.generic
variable
resistor

Codes :
A

(1) |

(2) 1

B G
M SESSY

|| bt 7SR |

@il I I

4) Il Jien IV

(5) Question not attempted
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25.
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T T ITANT G4 &9 | "9 & forg o
Bl

(1) Fr= wferre

(2) 3= fagga-Teh = wfdy

(3) wgd I wTiar

(4) reia for Seear

(5) TFaia =

T 10 fireft g0 <t Fuselt S 100 e,
50 &t ferega &ia % que e T IEH
muﬁﬂmé’ﬂ
(1) 100 7 Q

(3) nQ

(5) g Se

foreft graehia ufty & 91y 3iatet g9 &1
T 3T ENT ?

(1) gerehrr gfaemy s |

(2) Fr=ehIT FoTad Bcd HH T |

(3) FrerehId TeAa <1 fervrsi i |

(4) FhHRI-aTEH a1 HH BT |

(5) 3T I

Ife gfeliy ‘R’ % U 91 6l @1 & 39
Td 7F & ‘n’ AT 9% 9F &9 & @
ST R, ) 35T T R R

(2) 1000 = Q
(4) n&rh

|
(1) nR 2) Rin |
(3) n?R (4) R/n? I
(5) SFwiE ¥ !
ST 2 uF % TR G B A § e } 25.
ST, At o HETRAT 1 914 I I
(1) 8 uF (2) 0.5 uF |
(3) 2 uF (4) 6 uF |
(5) g 9= |

7

21.

22,

23.

24,

A Megger is primarily used to
measure :

(1) Low resistance

(2) High insulation resistance

(3) Very high capacitance

(4) Extremely low voltage

(5) Question not attempted

An inductance of 10 mH, connected
across a 100 V, 50 Hz supply, has
an inductive reactance of :

(1) 100 = Q (2) 1000 = ©
3) nQ (4) © Henry
(5) Question not attempted

The effect of an air gap in a
magnetic circuit is to :

(1) increase the reluctance

(2) reduce the flux density

(3) divide the flux

(4) reduce the magnetomotive force
(5) Question not attempted

If the length of a wire of resistance
‘R’ is uniformly stretched to ‘n’ times
its original value, its new resistance is :

(1) nR (2) R/n
(3) n?R (4) R/n?
(5) Question not attempted

If the four capacitors of 2 uF are
connected in series, the value of
equivalent capacitance will be :

(1) 8puF (2) 0.5 uF
(3) 2pF (4) 6pF
(5) Question not attempted
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27.

28.

29.

30.

R ¥ fra R Y faseft ST wear & 7 | 26.

(1) SreTerdt amT (AC)

(2) fez amr (DC)

(3) AC 3R DC 2t

(4) F@AC 3RITEDC

(5) 3G T

TR 1 Hol | GRafdd S i ufear | 27.
AR ?

(_1) TefteRTor (2) ﬁga_amzq

(3) forg=a (4) arsfishTor

(5) rgeiRa =7 |

qRonf 6 B 1 ARAYE R A e | 28.

(1) fefifem wrfa v dim d w@r 2g
(2) Posferai & ehed Bl 9 HH 2
(3) ¥eR O ! Y B B

(4) Fsferat i wftramen 7 F1 29
(5) I SR ‘

T 440/110 V "M 9t uivntE # | 29,

wreifes 871 1 @ 1000 B, @ 3Eht

fecitae Fueett o O3 6t T grft

(1) 550 (2) 250

(3) 4000 (4) 25 |
(5) AT T i
¥ Rl & SgenE v R Am A | g0
& 7o SR 8 o S @ 7 |
(1) Greefin s {
(2) IR fRw |
(3) TsnfEiT wmr |
(4) B |
(5) ITgai |

What type of electricity do solar
panels produce ?

(1) Alternating Current (AC)
(2) Direct Current (DC)

(3) Both AC and DC

(4) Neither AC nor DC

(5) Question not attempted

Biomass can be converted into
energy by which process ?

(1) Gasification (2) Electrolysis
(3) Fission (4) Evaporation

(5) Question not attempted

The core of the transformer is

laminated to :

(1) limit hysteresis loss

(2) reduce the inductance of
windings

(3) reduce the eddy currents

(4) reduce the resistance of
windings

(5) Question not attempted

A 440/110 V transformer has 1000

turns on the primary winding. The

number of turns on the secondary

side is :

(1) 550 (2) 250

(3) 4000 (4) 25

(5) Question not attempted

Which hand tool is used to remove
insulation from wire ends ?

(1) Soldering iron

(2) Wire stripper

(3) Crimping pliers

(4) Hacksaw

(5) Question not attempted
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32.

33.

34.

35.

01

B Ja 1 guH, Fiea 3R Sehea & fag
1 ST feR ST R |

(2) ®HR

(4) ==

(1) ®=
(3) mTgsHiE
(5) 3T A

WTHfcrh e Y ST HA ht TR Y
AT 2

(1) 3f& (Dressing)

(2) 37@=+ (Quarrying)

(3) ®g&H (Crushing)

(4) "isif4 (Seasoning)

(5) i e ,

AR AT YR bl foraeh freamo @ wmea
fr oA g ?

(1) =719 (Limestone)

(2) fr=m (Gypsum)

(3) SieimTsE (Dolomite)

(4) sieETse (Bauxite)

(5) Irgaia s

3= T e #1 Ieared fhaes o
! T Y e e smar @ ¢

(1) =1 IR 3R §TerTse

(2) =T 9eRR, st IR iy

(3) = v, freem oiR gfvepr

(4) I e, fyom, stage, gt
AR =6

(5) ATaRa w¥=

91 B T S9N % foe sware e
EEEISIDIGECICl s

(1) MnO, (2) Cr,0,

(3) Coz0, (4) Fe,0,

(5) Fgaia yw=

T— L. L——" TP — W —— —— T L T4 V— Trm——

31.

32.

33.

34.

35.

For twisting, pulling and gripping

small jobs is used.
(1) File (2) Spanner
(3) Micrometer (4) Plier

(5) Question not attempted

The process of obtaining natural
stone is known as :

(1) Dressing

(2) Quarrying

(3) Crushing

(4) Seasoning

(5) Question not attempted

Plaster of Paris can be obtained
from the calcination of

(1) Limestone

(2) Gypsum

(3) Dolomite

(4) Bauxite

(5) Question not attempted

High alumina cement is produced by
fusing together a mixture of

(1) Limestone and bauxite
(2) Limestone, bauxite and gypsum
(3) Limestone, gypsum and clay

(4) Limestone, gypsum, bauxite,
clay and chalk :

(5) Question not attempted

The metal oxide used to make
emerald green glass is :

(1) MnO,, (2) Cr,0,
(3) Coz0, (4) Fe,0O4
(5) Question not attempted



36, T Y WH Al Hig HI e 3R I7H

37.

38.

39.

40.

Ao H waH JeTEAE |

(1) e (Steel)

(2) W™ Ve (Stainless steel)

(3) 3= wfd frme wifes (High
strength vinyl plastic)

(4) shiftrm w¥e (Chromium plate)
(5) g T

& fmin & whe § @ e w1 SwEm
Freaferiea & & fore sifaem 3 frar ST @ 2
(1) & (2) afeso

(3) 2wafi (4) ST

(5) T S

aet & Frefefad § & B @ %98 5
FEATR ?

(1) sr&c (2) it

(3) qET & - (4) e &

(5) gaRa S
frrferfaa o @ PR an de HAw A & 7
(1) FRRATST  (2) RIS

(3) FrPrEET  (4) Wi

(5) gaRa =

e  fomife (9e) Rrer 8 € -

(1) femrama & forg

(2) T1% fog

(3) Forerrs & forg

(4) TSR Fag % feTg

(5) gaid y

—————— A WA TA—— —— Ti—

=
o

37.

38.

39.

'S
e

36. Bullet proof glass is made of thick

glass sheet and a sandwiched layer
of

(1) Steel

(2) Stainless steel

(3) High strength vinyl plastic
(4) Chromium plate

(5) Question not attempted

In the process of brick manufacturing
the pug mill is used in which of the
following operation ?

(1) Weathering (2) Blending
(3) Tempering  (4) Burning
(5) Question not attempted

Which of the following in timber is
caused by fungus ?

(1) Upsets (2) Foxiness

(3) Dry rot (4) Wet rot

(5) Question not attempted

Which of the following is not a defect
in paints ?

(1) Blistering (2) Cracking

(3) Crocodiling (4) Foxiness

(5) Question not attempted

In paints, the
responsible for
(1) durability

(2) colour

(3) smoothness
(4) glassy face

(5) Question not attempted

pigments are

01



41.

42.

43.

01

AHE! h A8 W HI I IURA & forg 7m
gifersr s % fore andi= & T wepm 1
T ST ST 8 ?

(1) Yufes @

(2) wTEIfRRETE A

(3) awEafa oW

(4) 7y HH

(5) 3w Fe

12 et i<t ggs W 90 i W 7% F
yEe & fore wam fmtor <t srftreran S=rd
Bt

(1) 12.5 X
(3) 10 Hex

(5) St s

(2) 15.0 Hie
(4) 183

R ! TP o "igar (NBC) wadl Y
| 3o W snfipa et 2 ¢

(1) w6y 78

(2) Trmior o

(3) ST (fergieft)

(4) ufret <t gen

(5) e S

27

(1) et FATTAS TSTRIH }
(2) mEe hetel TfecTshee |
(3) TS ATeHet IR |
(4) 0 Hre IfhewrET }
(5) 3mgafa ¥ |
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41.

42,

43.

1 fafesm 3 wed % LCA &1 qu am = E 44,

Which type of wax is dissolved in*
turpentine to make wax polish for
highlighting the grains over wooden
surface ?

(1) Paraffin wax

(2) Microcrystalline wax
(3) Plant wax

(4) Bees wax

(5) Question not attempted

The maximum height of building
construction for a plot of up to 90
square meter area on a 12 m wide
road will be

(1) 125 m (2) 15.0 m
(3) 10 m (4) 18 m
(5) Question not attempted

The National Building Code of India
classifies buildings based on :

(1) Material used

(2) Construction company
(3) Occupancy

(4) Number of floors

(5) Question not attempted

What does LCA stand for in the
context of green buildings ?

(1) Local Climate Adaptation
(2) Light Control Application
(3) Life Cycle Assessment
(4) Low Carbon Architecture
(5) Question not attempted



- 45,

46.

47.

48.

I fafeem & wpfoss Sfeeem (wmepfen
FATAH) % SUFRT 1 & 7T R 2 7
(1) 9t it @uad Ht HH HEAT

(2) TSR ST OIS 1 G

(3) $TER ATYHH I FGHT

(4) TREATH Teal ol qETHT

(5) IrFaRa A

forelt TR 6t o1 I STTETEHAT AH:

fopm 3R at Frfehl STt R 2

(1) 3frepam Wi ger et A

(2) Itfrpan s W& @i + Stfsm
*q 9 AT

(3) 3ftga e S | + rfAyE &g
ST [

(4) sftrram wfy d@ o @ w
iftreram efe St miT + SAAIEA
¥ A A S AR R |

(5) rgaia S

et el woneht F wrh ) 7 T SR
T STt R
1) 5%
(3) 15%

(5) i S

i ¥ JIONE 7 T A IH 9 5
uT5d <! fr= & fore femmea feren sman 2

(1) aftreram efes At

(2) 3ftwa e Al

(3) 3tRrepem fem =1 rfrepam wfa =T wi

(4) Aftrepaw ATeaTiEs wiT

(5) g

) 7.5%
(4) 25%

|
|
|
|
|
|
|
|
|
|
|
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45. What is the primary purpose of using

46.

47.

48.

natural ventilation in green buildings ?
(1) To reduce water usage

(2) To improve indoor air quality

(3) To increase indoor temperature
(4) To replace structural elements
(5) Question not attempted

The total water requirement of a city
is generally assessed on the basis of

(1) maximum hourly demand

(2) maximum daily demand + fire
demand

(3) average daily demand + fire
demand

(4) greater of maximum hourly
demand and maximum daily
demand + fire demand

(5) Question not attempted

The water losses in water supply
system, are assumed as :

(1) 5% (2) 7.5%
(3) 15% (4) 25%
(5) Question not attempted

The pipe mains carrying water from
the source to the reservoir are
designed for the
(1) Maximum daily draft
(2) Average daily draft
(3) Maximum hourly draft of the
maximum day
(4) Maximum weekly draft
(5) Question not attempted
01



49.

51.

52.

50.

. U 1 3T e Y w arafes faf

Trelt SemeE # 1 BH 9T $9 adee
JaTE <1 IfaeTd HEeTal & :

(1) &HT-SHaaig Jga

(2) TS Oih

(3) g9 &

(4) Tereermom gaaan

(5) IrFaRa I

rgrait & = Sft A formr 3 @ fopueht 5=
Higa ATt I i S HROT &1 Fehal ® ?
(1) 7EgrEe (2) TTgge

(3) dan (4) &S

(5) 3T ¥

Ul S Yg HHT 1T 7, Afe ITEH! HIRAT
T8 IR A :
(1) 75 didim

(3) 150 didfrw
(5) I 3R

(2) 100 didfram
(4) 300 dfrum

gt 3§ 37T T HEE 3T HRYT 2
(1) Taeis

(2) ETEgH

(3) WA STEATHATES

(4) g

(5) rgafa T

2:
(1) vitfees gfgero

(2) TETEfT AfgHwr

(3) e g

(4) BIRA-TH{ it
(5) gt S
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49. The percentage of the total sediment

50.

51.

52.

(3) 150 ppm

flow, getting deposited in a reservoir,
is called :

(1) Capacity-inflow ratio

(2) Sediment coefficient

(3) Trap efficiency

(4) Displacement efficiency

(5) Question not attempted

Blue baby disease may be caused in
infants due to drinking waters
containing higher concentration of :

(1) Nitrites (2) Nitrates
(3) Lead (4) Arsenic
(5) Question not attempted

Waters are considered ‘soft’, if their
hardness does not exceed :

(1) 75 ppm (2) 100 ppm

(4) 300 ppm

(5) Question not attempted

The most common cause of acidity
in water is : ;
(1) Oxygen

(2) Hydrogen

(3) Carbon dioxide

(4) Nitrogen

(5) Question not attempted

Boiling water is a traditional method
of :

(1) Physical purification

(2) Chemical purification

(3) Biological purification

(4) Photo-chemical purification
(5) Question not attempted



54.

55.

56.

57.

58.

IIATHR T2 Tl Tgah! It W& & forw | 54, The suitable layout for a water

S amgfd oo goneft % fore SwyE
A3 B

(1) <3 Us fren
(2) Tirs 3mee foaem
(3) T forem

(4) ifeae famen
(5) ITgRa s

a9 S ¥=¥ (rain-water harvesting)

&1 T 8 {6 T8 :

(1) 5o 16 Sl HH HiA § HERIH BT # |

(2) had Y511 W I TGIT & |

(3) 3Tferen et sy 2 | |

(4) TG I HH HLAT & IR - Bl IH: |
TR |

(5) ITgeia

Frferfad & § fydias sque @ d ¢
(1) 9oH SRATFES

ARICE

(3) wHTe STEITTRATES

(4) 3TH

(5) 3 e

vt faeifi o1 Tered iz i arg geme |
T 39 TR o & 9l Hu e & |
(1) 10p (2) 25 p }
(3) 50 p (4) 100 p |
(5) geiia A |
R ) Rt v B Em T 2 7 i
(1) & (2) sdw I
(3) SEEH (4) FHE i
(5) Irgafa s |
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supply distribution system, for a city
of roads of rectangular pattern, is

(1) Dead end system

(2) Grid iron system

(3) Ring system

(4) Radial system

(5) Question not attempted

The advantage of rain-water

harvesting is that it

(1) helps in reducing floods only

(2) increased the ground water level
only

(3) causes more rains

(4) reduces floods and replenishes
ground

(5) Question not attempted

The secondary pollutant among the
following is :

(1) Sulphur dioxide

(2) Methane

(3) Carbon dioxide

(4) Ozone

(5) Question not attempted

The respiratory suspended
particulate = matter concentration
includes all particles in air mass of
size up to:

(1) 10p (2) 25 p

(3) 50 p (4) 100 p

(5) Question not attempted

Noise is measured in units of :
(1) Hertz (2) Decibel
(3) Doboson (4) Becqueral
(5) Question not attempted

01



59.

60.

61.

62.

63.

01

frafafea d @ 9 @1 T =i auifva
H HT LI TR 8 ?

(1) foped 3l 2w A i

(2) a5 # HHt

(3) drha 3R T # 9fg

(4) TS H e qrol A HHl

(5) I e

i o, gude Tagl 1 HueE 3R
Seeadr s 3R TlEor S % fow fea
IUHT T 39N R ST 8 2

(1) TEHIEE  (2) TE-TERT

(3) mifém s (4) SR FAT

(5) gaRa w7

TR H S W BT ST TR ?

(1) mfés fafga s

(2) =% (YHTSGR) H1eT

(3) TInet it Tag i THAS T EHeT HET
(4) See HEAT

(5) I S

e fomiy g & fore, forelt amft =&
I H1 AGH 125 GPa & AR uizEd

31gua 0.25 2, @ ggar s (Modulus
of Rigidity) =1 g ?

(1) 45 GPa (2) 50 GPa

(3) 62.5 GPa (4) 75 GPa

(5) rgeiia =

oy et vt 3 or et Rt F wam

!
|
!
2, 3 o8 T R 7 |
(1) wmfesfi (Isotropic) - : i
(2) fewmfestiar (Anisotropic) |
(3) T (Homogeneous) |
(4) I (Elastic) l

|

(5) IrgaRa s
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59.

60.

61.

62.

63.

Which of the following is not an

objective of seasoning timber ?

(1) Reduction in shrinkage and
warping

(2) Reduction of weight

(3) Increase in strength and
durability

(4) Reduction of natural defects in
timber

(5) Question not attempted

In carpentry, what is the tool used to
create and test the straightness and
perpendicularity of planed surfaces ?
(1) Carpenter’s Vice

(2) Try-square

(3) Mortise Gauge

(4) Bar Clamp

(5) Question not attempted

The purpose of a jack plane in
carpentry is to :

(1) Mark out mortises

(2) Cut curves :

(3) To level and plane wood surface
(4) Tighten bolts

(5) Question not attempted

For a specific application, Young’s
modulus of a material is 125 GPa
and the Poisson’s Ratio is 0.25, the
modulus of rigidity is :

(1) 45 GPa (2) 50 GPa

(3) 62.5 GPa (4) 75 GPa

(5) Question not attempted

A material has identical properties in
all the direction, it is said to be :

(1) Isotropic

(2) Anisotropic

(3) Homogeneous

(4) Elastic

(5) Question not attempted



S N YA -

64.

65.

66.

Ife freht fie © w51 & & U6 98 5

forepfa = fore wfertyr 3eo=1 ovtan R, 1 9%
yfeR e 2 :

(1) ferepfer (2) wicse

(3) SeTRrET (4) JCATECT ATITH
(5) SN T

ifep feomea & “girrar” weg =1 7 a7
27 |

(1) fenism =1 wfey

(2) Tt freau & RET wR T8 @ B
i o

(3) v feregor =1 iy

(4) Tawerar & fomT R 989 6t <6t &man

(5) Iraid 5w

-1 1 G-Il & s e wd foepen
g :
-l

Al
A. 95 391 i. 0.15% & 0.25%
EALC]

B. HifeTm-%Ea  ii. 0.3% ¥ 0.6%
T HEA

C. ER-%e iii. 0.65% & 1.5%
T HTEA

D. g&dl gl iv. 2% ¥ 4% e
ATB 6D

()i sl e

@y 0o

@) i s

(@il v i

(5) Irgaia v

By ———
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64.

65.

66.

If a force acts on a body, it sets up
some resistance to the deformation.
This resistance is termed as :

(1) Strain

(2) Stress

(3) Elasticity

(4) Modulus of Elasticity

(5) Question not attempted

What does the term “Stiffness” in
mechanical design refer to ?
(1) Resistance to fracture

(2) Ability to carry load without
permanent deformation
(3) Resistance to elastic
deformation
(4) Ability to carry load without
failure
(5) Question not attempted
Match List — | with List — Il and
choose the correct option :
List— | List—1I
A. Mild steel i. 0.15% to
0.25% carbon
B. Medium ii. 0.3% to 0.6%
- Carbon steel carbon
C. High Carbon iii. 0.65% to 1.5%
Steel carbon
D. Cast Iron iv. 2% to 4%
carbon
A B iGeED
(1) i i ol
(2): v 01 i
(3) i i
(Y i e
(5) Question not attempted
01



67.

68.

70.

TEITT & ST SUER 1 §&T ¥ B

(1) 9T A HET

(2) TS TTEAT i FEE

(3) T3 T[T H GER HEAT

(4) Temmee d gur @

(5) g e

T 8 % $Td ! 40C8 % &9 I fasfia

fopam R, =&t 40 3k 8 FreferRaa =

UCE S

(1) 3@ 0.40% Tt 3R 0.80%
HTe :

(2) 3fEc 0.40% w1eH 3R 0.80%
R-Lis

(3) 3MEaT 4.00% HEA 3R 0.80%
s

(4) 3ivae = Wi s s & i 5 |

yfesa
(5) 3T S

Hiel u1g (Monel metal) T&F &9 @
fopeert frsr-urg (alloy) ® ?

(1) dter s s

(2) dien 3R fehet

(3) freper 3t shiftem

(4) =ier 3R fepa

(5) g I

FTEe % 3@ 9T 1 A & B X @ fafa
frRnm g |

67.

68.

69.

The main objective of heat treatment
of steel is :

(1) Reduce weight

(2) Change its chemical composition
(3) Improve mechanical properties
(4) Improve appearance

(5) Question not attempted

A type of steel is designated as
40C8, the numbers 40 and 8
represent :

(1) Average 0.40% manganese and
0.80% carbon

(2) Average 0.40%
0.80% manganese

(3) Average 4.00%
0.80% manganese

carbon and

carbon and

 (4) Average tensile strength and

elongation percentage
(5) Question not attempted

Monel metal is primarily an alloy of :
(1) Copper and Zinc

(2) Copper and Nickel

(3) Nickel and Chromium

(4) Iron and Nickel

(5) Question not attempted

Name the part of the file marked as
‘X

(1) &= (2) 3 - (1) Heel (2) Tang
(3) Hea (4) e (3) Ferrule (4) Edge
(5) Igaia I (5) Question not attempted
01 17 o o




71.

72.

73.

74.

o1 (feer) = 28 firdt 3 wren S afy
22 Hieyfime < fee 7% (RFse) fa @t «
(1) 200 rpm (2) 250 rpm
(3) 300 rpm (4) 400 rpm
(5) IRy
-1 1 -1l & fremse aun w8 fosea
EGLE
gl Tet-Il
A. Thg TR i afER ST
B. FE NN ii. BhEN
C. IFT MR i
D. A9 3R iv. Rk
A B sk D
W
@y i
@)ooy 2lijiict W
(4) i iii iv i
(5) rgaRa T
frafafea & @ ®9 @1 wd7 W/ &1
e
(1) 3=t Vg gwar
(2) = U
(3) R-grorTt
(4) =1 S
(5) 3T e
zﬁ'rrrtrf%'mﬁ “sur” ﬁ@nﬁam%
(1)aﬁrﬁng«rmaaaﬁnﬁe@ |
(2) FHag i g % v h e |
(3) e 3 sy R & o g }
T gl l
(4) wie Tt wrft frsprem |
(5) gt s |
18

7.

72

73.

The spindle speed for drill diameter
28 mm and cutting speed of 22 m/min
shall be :

(1) 200 rpm (2) 250 rpm
(3) 300 rpm (4) 400 rpm
(5) Question not attempted
Match List — | with List — Il and
choose the correct option :
List - | List— 1l
A. Holding tool i. Vernier Callipers
B. Cutting tool ii. Scriber
C. Marking tool iii. Saw
'D. Measuring iv. Vice
tool
AB G D
(1) iii i i v
(2) iv i i i
(3) i i i v
(@) il

(5) Question not attempted

Which of the following is not a
property of the cutting fluids ?

(1) Good lubrication qualities

(2) Low flash point

(3) Non-corrosive

(4) Low viscosity

(5) Question not attempted

“Feed” in turning operation is defined

as:

(1) Distance moved by tool per

- minute

(2) Depth of penetration of tool into
workpiece

(3) Distance moved by tool per
revolution of workpiece

(4) Material removal per pass

(5) Question not attempted

01




75.

76.

77.

78.

79.

01

ST -eifeet AT § sw aR
1ot TEfifeea Rl s ams T @ 7
(1) #& (2) =hrem

(3) e (4) e

(5) i S

P o =Teh g T % o sitden
T ! It bl B 7 '

(1) <reT ArET

(2) TITIH TE AT

(3) St ht wMeX

(4) T A IE T

(5) gafa =

frafafea & @ fea e o wmsh
gl (Pogeer) witer i g @ ¢

(1) = (2) wf

(3) wifén 317w (4) et

(5) rgaRa =7

fefafga & @ 9 @1 @ =" 1
e i ¢
(1) feam s
(2) TSRi® 3N oRH % deH & o=

TS ey 3T =k o qwar = d @
fram e 8 7

(1) He-3ATH A

(2) wdis g -

(3) T foma S |t $uA

(4) S=AH TE :

(5) 3T S
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75.

76.

77.

78.

79.

What is the standard colour of the
acetylene cylinder used in oxy-
acetylene gas welding ?

(1) Maroon (2) Black
(3) Yellow (4) Blue
(5) Question not attempted

Which sheet metal can withstand
contact with water and exposure to
weather ?

(1) Black iron

(2) Softiron sheet

(3) Galvanised iron

(4) None of these

(5) Question not attempted

Which of the following operations
does not involve removal of material ?

(1) Turning (2) Facing
(3) Parting off  (4) Knurling
(5) Question not attempted

Which of the following is not a
specification of a lathe machine ?

(1) Swing over bed

(2) Distance between
and tailstock centers

(3) Bed length
(4) Spindle taper angle
(5) Question not attempted

headstock

The efficiency of an ideal Otto cycle
is a function of —

(1) Cut-off ratio

(2) Compression ratio

(3) Fuel used

(4) Maximum pressure

(5) Question not attempted



80.

81.

82.

. O 99 ¥ He-Ah JIU H

ga = e o 2 -

(1) 317t AR HHE

(2) S 3R e

(3) =Tt 3N T

(4) 317er 3R S5

(5) 3T e

99 6 S TR H AT ¥g B AT
Arefter JTTevas TR R ?

(1) Tk

(2) $o hifa

(3) S BT A

(4) erEEEe &fEn

(5) 3Tgaied S

A w2 38 Ara & o e S @
(1) sg-Tocist 357 6 gebfaa wfd
(2) Toret feist 597 6t i wifa
(3) Tt fireist 39 6 wvur wfe
(4) STegafes gea

(5) 3T ¥

U % T & Ry ferar ST & |
(1) wdtsT e & forar 3maw |
2) sﬂiﬁﬁ;mﬁaiﬁum ;
(3) T e % 9 H TG F FST |

e & et & s i
(4) e B e 1 Feflrg e |

3 |
(5) 3T T !
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80.

81.

82.

83.

The dual cycle is a combination of :
(1) Otto and Carnot ‘
(2) Diesel and Brayton

(3) Otto and Rankine

(4) Otto and Diesel

(5) Question not attempted

Which parameter is not required for
calculating break power of an engine ?

(1) Torque

(2) Engine speed

(3) Diameter of cylinder
(4) Dynamometer reading
(5) Question not attempted

Morse test is conducted to measure :

(1) Indicated power of multi-cylinder
engine

(2) Brake power of single cylinder
engine

(3) Friction power of single cylinder
engine

(4) Volumetric efficiency

(5) Question not attempted

The cut-off ratio in a diesel engine is

defined as the ratio of :

(1) Compression volume to
expansion volume

(2) Initial pressure to final pressure

(3) Volume after heat addition to
volume before heat addition

(4) Piston
clearance volume

swept volume to

(5) Question not attempted

01




85.

86.

87.

01

© greR (BP) 34T & | 36! 9 <l @ud 9 kg

FRAF AT A H T FE 18 ?
(1) eire-he & $o-Tat FRR S @& |
(2) aTg 1 1 SRR g e, Fred e

ey 3 RereRt e ol H ot e |
(3) Hiieet e o GIeH -8 el 1 B0 |
(4) TR TR S & YT FHoli bl {HepreH |
(5) a5

317 &Y. S5 ) T T T A BRI 8 :
(1) Rt =t s HE

(2) 3FERH YEH HET

(3) =t 3R forema i FHH B

(4) HfTeA AT TG

(5) IR S

% IR-Rieiet S5l 599 40 kW F1 5
ofe =T B, 7T 39 6 1 e S aH

(LHV) 42,000 kJ/kg & | f Fitres gean
0.80 2, A S cgran fpeft Brft ?

(1) 0.28 (2) 0.34
(3) 0.38 (4) 0.46
(5) IrFmRa A

TR -TE S gII TSI R Sgehl }
%t g 3, Fe 3 & fre fe-gw T |
oA &9 A TR ARSI ? |
(1) T % it W A T |

TEGIHE |
(2) HreH ARIEHTETSS T esesed |
(3) e STEIATHTEE T AT l
(4) g3t ta HUEHT TS i
(5) R A |
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Which of the following statements

best explains the function of the

venturi throat in an elementary
carburettor ?

(1) It maintains a constant fuel level
in the float chamber.

(2) It increases the air velocity and
decreases the pressure to help
atomize and draw fuel into the
air stream.

(3) It controls the opening and
closing of the throttle plate.

(4) It filters out dust particles from
the incoming air.

(5) Question not attempted

The main function of a lubrication
system of an IC engine is to :

(1) Cool the cylinder

(2) Provide ignition

(3) Reduce friction and wear

(4) Increase compression ratio

(5) Question not attempted

A four-cylinder diesel engine delivers

" 2 Brake Power (BP) of 40 kW. lIts

fuel consumption is 9 kg per hour,
and the fuel's Lower Heating Value
(LHV) is 42,000 kJ per kg. If the
mechanical efficiency is 0.80, what is
the brake thermal efficiency ?

(1) 0.28 (2) 0.34

(3) 0.38 (4) 0.46

(5) Question not attempted

Which pair of exhaust constituents is
generally regarded as comparatively
harmless, in contrast to the visible
pollutants emitted by an internal-
combustion engine ?

(1) Oxides of nitrogen and unburnt

hydrocarbons
(2) Carbon monoxide and
aldehydes

(3) Carbon dioxide and water vapour
(4) Smoke and particulate matter
(5) Question not attempted



89.

90.
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92.
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88.

89.

91.

92.

In which component of refrigerator
system is heat absorbed from the
refrigerated space ?

(1) Condenser

(2) Expansion valve

(3) Compressor

(4) Evaporator

(5) Question not attempted

The correct relation for Coefficient of
Performance (COP) of a heat pump
and a refrigerator is :

(1) (COP)gys = (COP)hp -1

(2) (COP)zes = (COF’)hp +1

(3) (COP)y, =1-(COP)gq;

(4) (COP),, = (COP)zg

(5) Question not attempted

Which of the following refrigerant is
non-toxic and non-flammable ?

(1) Ammonia

(2) R-40

(3) Freon-12

(4) Sulphur dioxide

(5) Question not attempted

Which of the following refrigerants is.
most commonly used in large
industrial low-temperature
installations ?

(1) Air (2) Ammonia
(3) Carbon dioxide (4) R-12
(5) Question not attempted

Which of the following letters is NOT
used in the hexadecimal number
system to represent a digit ?

(1) A (2) F
) G (4) D
(5) Question not attempted

01



93.

94.

95.

96.

97.

01

sl g@m (1011.010), 1 <A

AT FTR 7

(1) 10.25 (2) 11.25

(3) 11.5 (4) 10.5

(5) AT I

o = o B & FaTefiime 31 B ?
(3456)g = ( e

(1) E76 (2) 72E

(3) 61E (4) 12F

(5) Irgaid A

s ey gen ugfa ¥, 24 +17 = 40
foar T R | 39 GEAT UG ST IR

(base) 41 BT ?

(1) 11 2) 10
3) 9 4) 8
(5) ST S

A4 wEmsl W IEEES WHd §¢
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afomH &1 BT 7
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s g 7

(2) (1110),
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|
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|
|
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93.

94.

95.

96.

97.

What is the decimal equivalent of the
binary number (1011.010), ?

(1) 10.25. (2) 11.25

(3) 11.5 (4) 10.5

(5) Question not attempted

What will be the hexadecimal digits
in the blank ?

(3456)5 = (__)1g

(1) E76 (2) 72E

(3) 61E (4) 12F

(5) Question not attempted

In a particular number system,

24 + 17 = 40. What will be the base
of number system ?

(1) 11 (2) 10

3) 9 (4) 8

(5) Question not attempted

What will be the result of subtracting
the binary number (101111), from

(110001), that both

numbers are unsigned ?

(1) (10), (2) (1110),
(3) (111), (4) (10010),
(5) Question not attempted

assuming

Which of the following cyber-attack
is dependent on sending packets too
large for the server to handle ?

(1) Smurf IP Attack
(2) ICMP Flood Attack
(3) Ping of Death

(4) Teardrop Attack

(5) Question not attempted
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99.

100.

Which of the following is not an
example of E-commerce ?

(1) Government employee reserves
a hotel room over the internet.

(2) An individual withdraws funds

from an  automatic teller
machine.

(3) A business buys office supplies
on-line.

(4) A contractor giving cash wages
to the labour.

(5) Question not attempted

Consider the following statements :

A : Some application software are
packaged together and sold as
software suites.

: Adobe Creative Cloud provides
apps, web services and
resources for all creative
projects.

Which of the following options is

correct ?

(1) Only statement A is true.

(2) Both statements A and B are

true, B is an instance of A.

(3) Both statements A and B are true,
but B is not an instance of A.

(4) Only statement B is true, A and
B are not related to each other.

(5) Question not attempted

Which of the following is considered
to be a resource manager that
manages all the resources of a
computer ?

(1) Application Software
(2) Compiler

(3) Device Drivers .

(4) Operating System

(5) Question not attempted

01




101.

102.

01
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101.

102.

Which of the following options

correctly represents the sequence of

hardware technologies used from
the first to the fourth generation of
computers ?

(1) Transistors - Vacuum Tubes —
Integrated Circuits —
Microprocessors

(2) Vacuum Tubes — Transistors —
Integrated Circuits —
Microprocessors

(3) Vacuum Tubes — Integrated
Circuits — Transistors —
Microprocessors

(4) Microprocessors —» Transistors
— Vacuum Tubes — Integrated
Circuits

(5) Question not attempted

‘Match the following components in

Column - | with their descriptions in
Column -1l :

Column — | Column — Il
(Components) (Descriptions)
a. EPROM i. Non-volatile

storage,
modifiable with
_ special
command
b. Bootstrap ii. Temporary
Loader memory used for
execution of
programs
c. RAM ii. Minimal  code
used to initiate
OS loading from
disk
a b ¢
1) i i i
(2) ii iii i
(3) i i il
(4) iii i ii

(5) Question not attempted
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103.

104.

105.

What is the primary role of system

utility software ?

(1) For maintenance and
configuration of the computer
system

(2) For writing and compiling source
code

(3) For browsing the internet

(4) For running application
programs

(5) Question not attempted

How is the refractive index of a
medium defined ?

(1) Ratio of the wavelength of light
in the medium to wavelength in
vacuum.

(2) Ratio of the light intensity in the
medium to that in vacuum.

(3) Ratio of the velocity of light in
vacuum to the velocity of light in
the medium.

(4) Ratio of the frequency of light in
vacuum to that in the medium.

(5) Question not attempted

Which of the following fiber
connector types is characterized by
a slotted bayonet ?

(1) sC

(2) ST

(3) FDDI

(4) SMA

(5) Question not attempted
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106. Chapter Il of IT Act, 2000 is about :

107.

108.

(1) Electronic Governance

(2) Digital Signature

(3) Secure Electronic Records

(4) Regulation of Certifying

Authorities

(5) Question not attempted

Under which Section of the
Information Technology Act, 2000 is
a Certifying Authority (CA) licensed

to issue a Digital Signature

Certificate ?

(1) Section 20
(2) Section 12
(3) Section 24
(4) Section 42

(5) Question not attempted

Byte addressable memory means
(1) Each byte in memory is given an
address.

(2) Each word of 8 bytes is given
one address.

(3) Few special bytes are only given

one address.

(4) All the bytes in a memory have
same address which changes
with time.

(5) Question not attempted



109.

(4) 2s Wi ®1 IWE@W Had

110.

111.

= 3 @ 7 @1 2w 2's v

USRI F TR AT 8 ? :

(1) 2's HifReTHe & I THRHS
et & fore S o & ofk =g
Faa a¥ft forcy =+ Ierest wra e
SEg

(2) 2s wifveme 5 @ F 1's
HifeeTie ¥ 1 TR I fhar ST ® |

(3) 2's Hifieme THRIHS HEAAT
R # T g w8, fE
& & 1's Hifeme § 1 e
T fpaT ST R |

SIS TSI H 9N » forw
s g |

(5) Irgmid g

ffafees & & *F @1 e = @
fearsa ? Tyl foot = ) @ R
ITANTRAT e o T B ?

(1) T e SAffea

(2) T g

(3) T TR &

(4) T 3

(5) IgaRd S

T el e Frmd el $oft 9 %
fore warte 7or 7 €9, @ wEeTaT R 2
(1) i Tfed de

(2) e tfedt de

(3) T e

(4) =fSiaet ¥

(5) Irgaiiia s

T ————— ———— T —— —— T —

N
©o

109.

110.

-
-
-

Which of the following statements is
true about two’s (2's) complement
representation ?

(1) Two’'s complement is used for
negative numbers and is
calculated by inverting all bits
only.

(2) Two's complement of a number
is obtained by subtracting 1 from
its one’s complement.

(3) Two's complement is widely
used method for representing
negative numbers, obtained by
addng 1 to the one’s
complement of the number.

(4) Two's complement is used only
for representing positive
numbers.

(5) Question not attempted

Which of the following is a smart
device from Google with a display
screen to allow users to see the
picture memories ?

(1) Google Nest Audio

(2) Google Home

(3) Google Nest Hub

(4) Google Earth

(5) Question not attempted

. An entity set that does not have

sufficient attributes to form a primary
key is termed :

(1) Strong entity set

(2) Weak entity set

(3) Empty set

(4) Marginal set

(5) Question not attempted
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112.

113.

114.

At which level of abstraction are
complex low-level storage structures
used ? :

(1) External Level

(2) Logical Level

(3) Physical Level

(4) Conceptual Level

(5) Question not attempted

Match the parts of the URL in

Column - | with their meanings in
Column — 11 :
Column -1 Column -1
a. http i. Specific
web page
on the
server
b. www.computer.com ii. Protocol
used to
access the
server -
c. /page iii. Domain
name  of
the server
a b c
()i = 2l
(2) 1 =il i
(3) iii i
(4) ii i iii

(5) Question not attempted

What does the Error 404 indicate
when received by a web browser
while visiting some website/webpage ?
(1) The server is down and cannot
respond to any request. :
(2) The server has successfully
processed the request.

(3) The server cannot find the
requested web page.

(4) The client's internet connection
has failed.

(5) Question not attempted



115.

116.

117.

118.

FraferRaa weesiem &1 3meege war N ?

(A AND B) OR (A AND NOT B)

(1) A (2) B

~ (3) AXORB (4) AXNOR B

(5) g S |

frafaRaa @ifve affe &1 smeeg w1 |

2 ¢ _ |
e |
Y—Do—l_ {

(1) X+Y (2) X+Y |

(3) X+Y (4) X+Y i

(5) ITgaRa S |

Gmail 30 gl & 9 dewl i aEr $

T FAEE B e F@ F R
fewice v T ST F@TE |

(1) grEuR-oR Rt (TLS)
(2) - faifedt (NLS)
(3) TfRTeheH-arR firafidt (ALS)
(4) IS g g

(5) Iraia yw=

QY FYE 1! TEE(E OR (EX-OR) 7
W1 H13ZYE FT &I I TGS HAT: 0 3N
18?2

(1) =10

(2) o= 1

(3) =t 0 Mt 1

(4) ug faftr=r $ge Wi 7 =t |

(5) SFFRA SR

30

115.

116.

117.

118.

Gmail uses by default to
encrypt the connection when
messages travel between email
servers.

(1) Transport-Layer Security (TLS)
(2) Network-Layer Security (NLS)
(3) Application-Layer Security (ALS)
(4) No Security

(5) Question not attempted

What will be the output of a

Exclusive OR (EX-OR) gate with two

inputs when the inputs are 0 and 1

respectively ?

(1) Always 0

(2) Always 1

(3) Sometimes 0 and sometimes 1

(4) It does not accept different
inputs.

(5) Question not attempted

What is the output of the following
expression ?

(A AND B) OR (A AND NOT B)

(1) A (2) B

(3) AXORB (4) AXNORB

(5) Question not attempted

What is the output of the following
logic circuit ?

X—Po—

Do—Output
Y—|>o—|__'
(1) X+Y () X+Y
(3) X+Y (4) X+Y

(5) Question not attempted
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119.

120.

121

Consider the circuit diagram :

By
sl
© :

The half-wave rectifier conducts

current during which part of the AC

cycle ?

(1) Both positive and negative half

(2) Positive half only

(3) Negative half only

(4) Neither Positive nor Negative
half

(5) Question not attempted

What is the primary function of a
rectifier ?

(1) Convert DC to AC

(2) Store electrical energy
(3) Convert AC to DC

(4) Amplify signals

(5) Question not attempted

A single phase fully controlled bridge
rectifier is given 230 V, 50 Hz
supply. The firing angle is 45° and
the load is highly inductive. What is
the value of Average Output Voltage ?
(1) 146.42V (2) 73.21V

(3) 292.84 V (4) 36.11V

(5) Question not attempted
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122.

123.

124.

125.

Which of the following materials is

used for aprons to protect against
radiation in welding operations ?

(1) Cotton fiber (2) Plastic
(3) Lead rubber (4) Wool
(5) Question not attempted

Which of the following combinations
correctly matches the factory safety
sign categories and colours ?

(1) Mandatory — Red

(2) Prohibition — Blue

(3) Warning - Yellow triangle
(4) Information — Red circle

(5) Question not attempted

Which of the following is NOT a type
of fire extinguisher ?

(1) Water extinguisher

(2) Foam extinguisher

(3) Smoke extinguisher

(4) Carbon dioxide (CO,) extinguisher
(5) Question not attempted

In the basis of sampling inspection,
is the difference between
“variable basis” and “attribute basis” ?

(1) Variable basis uses “GO/NOT
GO” data, attribute basis uses

what

measurements.

(2) Variable basis uses
measurements, attribute basis
uses “GO/NOT GO~ data.

(3) Both use only measurements.

(4) Both use only “GO/NOT GO”
data.

(5) Question not attempted
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126. Section 41B of the Factories Act,

1948 deals with -

(1) Ventilation

(2) Notice of accidents

(3) Disclosure of information by
occupier

(4) Penalty for offences

(5) Question not attempted

127. Who is popularly known as the

Father of Scientific Management ?
(1) Henry Fayol (2) Frank Gilbreth
(3) F.W. Taylor (4) Elton Mayo
(5) Question not attempted

128. Which of the following formula

correctly describes productivity ?
(1) (Output — Input) / Output

(2) (Input — Output) / Input

(3) Output / Input

(4) Input / Output

(5) Question not attempted

129. Arrange the following positions in the

correct sequence (highest to lowest
level) according to organizational
hierarchy structure :

(1) Worker —»  Foreman —
Production Superintendent —
General Manager

(2) General Manager — Production
Superintendent —» Foreman —
Worker

(3) Foreman —» General Manager —»
Production Superintendent —
Worker

(4) Production Superintendent —
General Manager —» Worker —
Foreman

(5) Question not attempted
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130.

131.

132.

133.

Which one of the following factors

does NOT affect wage determination ?

(1) Demand and supply position in
labour market

(2) Nature of risk involved in the job

(3) Working hours and overtime
provisions

(4) Company’s Share Market Price

(5) Question not attempted

Break-even analysis shows profits

when :

(1) Total revenue is greater than the
total cost.

(2) Total revenue is less than the
total cost.

(3) Total revenue is equal to the
total cost.

(4) None of these

(5) Question not attempted

Which of the following

components of prime cost ?

(1) Direct labour, direct material and
direct expenses

(2) Indirect labour, indirect material
and overhead expenses

(3) Fixed cost and variable cost

(4) Selling and administrative
expenses

(5) Question not attempted

are

In the context of micromotion study,
what is the term used for the most
basic element of a manual task,
used to analyze and improve work
efficiency ?
(1) Work element (2) Time motion
(3) Therblig (4) Ergonomic unit
(5) Question not attempted
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134.

135.

136.

01

H1 e R Icareshar favaw § g7

F19 gt (Basic Work Content) & &1

ATE R ?

(1) 7, srfafer 3 swwEh aog afda
Fo1 g

(2) T T3 3 FA & fo Agifes
Y ¥ AEVES NURGAHIT =
g

(3) FRIwaT g G B F R T
$ot g, e ot feeia witer &

(4) = uitfeufadt & 8 @ $@ &
e smavas aFs T

(5) e e

9 Y% $E dcd H Th @ AR
U= 19996 & at i ot i fafy
gad 31rs UgH § ?

(1) TS S i

(2) Tt ershi

(3) w&-TFruifa wfa T sremmm

(4) I Quafer

(5) ITgea =T

Ife n woaciF-dHs & (Coplanar-
Concurrent forces) &t %8 (8 ¥ iR
%) ¥ Fafea fFar o 3k 9 ™ W
FEYS 1Y, Tl 39 NOIelt 1 IR g9
A
(1) @ft =il o 3ftEa & SR |
(2) TR =2 3R Gl B 9 & Gd b l
W |
|
|
|

(3) &t sl o sfismToTd IR % ST
(4) I
(5) I S
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134.

135.

136.

What does the term basic work
content refer to in work study and
productivity analysis ?

(1) The total time including basic,
excess and ineffective time.

(2) The irreducible minimum time
theoretically required to produce
one unit of output.

(3) The total time taken by a worker
to complete a task including all
delays.

(4) The standard time required to
complete a job under normal
conditions.

(5) Question not attempted

Which timing method is most

appropriate  when precise - and

continuous measurement of each

work element is necessary ?

(1) Fly back timing

(2) Cumulative timing

(3) Pre-determined motion
study

(4) Work sampling

(5) Question not attempted

time

If n coplanar-concurrent forces are
arranged in order (tail to head) and
form a closed polygon, then the
resultant force of the system is :

(1) Equal to the average of all forces

(2) Equal to the average of largest
and smallest force

(3) Equal to the algebraic sum of all
forces :

(4) Zero

(5) Question not attempted



138.

139.

137. T UTash 3194 WA vgSt 3 fredt efdqor feer
- e g, 3k fw 4 Rt o R
6% o foemu (feieeve Revmiie) &
aRATT (AfFgs) T HIRT |
(1) 5 fepeft
(2) 1 freft
(3) 7 fereft
(4) 1.33 fosft
(5) geia s
Ife f& &1 f@m fas k & 3k =@
IHeh! dger Rt & x gt ae dier T 2,
399 wiva fRufest st anft
(1) kx
(2) kx/2
(3) kx2
(4) kx2/2
(5) rgafa ww
THEAM 6 m =it (YR 300 N) sit9 379+
a1¢ i W $fed @ ok g R & ot ©
T & R i @ T 2 | v an
9 % Y 60° FT BV TG R | Hger
(wmfeafaehl) & o ar § savs T R
T |
R l
D |
' |
il |
z |
(1) 100 N (2) 150 N i
(3) 173N (4) 200 N |
(5) Irgafd ww |
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137. A jogger runs from her home a

138.

139.

distance of 3 km due South and then
4 km to the West. Find the
magnitude of her resultant
displacement.

(1) 5km

(2) 1km

(3) 7 km

(4) 1.33 km

(5) Question not attempted

A spring with spring constant k is
stretched by a distance x from its
mean position. The potential energy
stored in the spring is :

(1) kx |

(2) kx/2

(3) kx2

(4) kx2/2

(5) Question not attempted

A uniform beam 6 m long (weight
300 N) is hinged at the left end and
held horizontal by a cable attached
at the right end making 60° with the
beam. The tension in the cable for
equilibrium is :

(1) 100 N
(3) 173N

(2) 150 N
(4) 200 N
(8) Question not attempted
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140.

141.

142.

143.

01

Th T i T F1Y & Tor Eiwrar & 3k
s % @ 30 ot % B w gt gam
2 kN w1 fe=ma wmar § | 32 g A
39 gRI 7 I T FA gt 15 m B, @

ATEH gRI R T e R R
2kN

f—— 15m ——j
(1) ~26 kN-m  (2) ~28 kN-m
(3) ~30kN-m  (4) ~36 kN-m
(5) gefa s -

A GRATO P < ) 9 TH-ga & 6 Hivl
X Toramsfiet € | aitomt =<t g

1) 2P cos 6 (2) P cos 6/2

53; 2 P cos 6/2 (4; 2 P sin 6/2
(5) rgaia s

T TR geme 9T 0 & foTe = w5
a0 T wdt w9 3 39 wen foran wrar @
(1) Fpgt=myv (2) Fgg=mg
(3) Fret=ma (4) Fet=mAv
(5) 3rFaa we

fou T wfem ® 15 N %1 s« @fvs &
60° o IV T T F §Y T A1 I

grRff 3T 0.50 m & G<hmaT ® | gy
TR | S g TR T i e R 7

F=15 N
60°
AARHRRRERREREAN \\a\.:r’\(\)\;r\l\\\\\\\
%1 7.25J (2):3:75)
3) 6.25J (4) 15.75J
(5) rgdfa w¥A

Te— i — S T W —— T —— T

w
~

141.

142.

143.

140. A man pulls a hand roller on ground

and exerts a pull of 2 kN, inclined at
an angle of 30° with horizontal. If the
total distance covered by him for
rolling is 15 m, the approximate work

done by man is :
: 2kN

f—— 15m ——j
(1) ~26 kN-m (2) ~28 kKN-m
(3) ~30 kN-m (4) ~36 KN-m

(5) Question not attempted

Two forces of equal magnitude P act
at an angle of 6 to each other. The
resultant force will be :

(1) 2P cos 6 (2) Pcos 6/2

(3) 2PcosB/2 (4) 2P sin6/2

(5) Question not attempted

For a single' particle of constant
mass, Newton’s Second Law is
correctly written as

(1) Fpgt=mv (2) Fy=mg

() Frg=ma  (4) F ,=mAv
(5) Question not attempted

In the sketch a 15 N force acts at 60°
above the horizontal while a block
slides 0.50 m to the right. Ignore

friction. What work does the force do ?
F=15 N

k—0.50 m —|
(1):7.25 (2) 3.75J
(3) 6.25 J (4) 15.75J

(5) Question not attempted



144. 50 foremm =1 & =R 3 m St wiaf

145.

146.

147.

5 ¥he § =Iga1 § | I WTRT 1 A BN

(9 =10 m/s?)

(1) 150 W (2) 300w
(3) 450 W (4) 600 W
(5) Jrgaia s

FHfqwEe™@ (hyperbola) $ S (e)
Bt 2

(1) e<1 (2) e=1
(3) e>1 4) e=0

(5) gt s

e fom w1 fovdt Y, st s % 10

firfi Hreuidt g, AP I IS T g 2

(1) RF 1 : 10 8 3K sgar g1 damn
(TemTfof Thet) hEeTaT |

(2) RF 10 : 1 g 3R sgar g dumn
(i Whet) e |

(3) RF 1 : 10 8rm 3R wrean gan damn
(Rt wher) gemam |

(4) RF 10 : 1 g 3R wear gam Sam
(Reafém wher) wgermem |

(5) I e

SIEHIE T, THHI Wl 3R e

e & T o5 wohm 61 Y@ =1 IgE

ST e ?

(1) waq et @

(2) SO YE

(3) 37 vaeht @

(4) TSt @

(5) gt S

I
l
|
|
|
|
|
l
|
i
|
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144,

145.

146.

147.

A 50 kg. person climbs a flight of
stairs 3 m high in 5 seconds. The
power developed is (g = 10 m/s?)

(1) 150 W (2) 300w
(3) 450 W (4) 600 W
(5) Question not attempted

The eccentricity (e) of a hyperbola is
(1) e<1 (2) e=1
(3) e>1 (4) e=0

(5) Question not attempted

If 1 mm line on the drawing,

represents 10 mm of the real object,

which one of the following is correct ?
(1) RFis 1: 10 and Enlarging Scale
(2) RFis 10 : 1 and Enlarging Scale
(3) RF is 1: 10 and Reducing Scale
(4) RFis 10 : 1 and Reducing Scale

(5) Question not attempted

Which type of line is used for
dimension lines, extension lines and
leader lines ?

(1) Continuous thin line

(2) Dashed thick line

(3) Chain thin line

(4) Zigzag line

(5) Question not attempted
01




148.

149.

150.

01

A Tl T 107 FE9U 1 it
FAE 7

- @
.
i

(1) (a) 3 (d)

(2) (), (b) 3R (c)

(3) (b) 3 (c)

(4) (a), (b), (c) 3 (d)

(5) ITTaHT ¥

h/10 Rime-e Sefor #, B st $
S A R (e h R IR 2)
(1) h (2) 6h/10

(3) 2h/10 (4) 7h/10

(5) g I

TS GHEAE (ATER{EE) w8 & &
TET & TEH YAFTEAE |

(1) 90° (2) 60°
(3) 120° (4) 30°
(5) AR S

| 150.

S —T——— - RS T—— ——

148. Which symbols represents 1%t angle

149.

projection ?

(b) @
o
:

(1) (a)and (d)

(2) (a), (b) and (c)

(3) (b)and (c)

(4) (a), (b), (c) and (d)

(5) Question not attempted

In h/10 single-stroke lettering, the
height of lower-case letters is (where
h is height of capital letters) :

(1) h (2) 6h/10

(3) 2h/10 (4) 7h/10

(5) Question not attempted

In an isometric projection the three

principal axes are  mutually
separated by

(1) 90° (2) 60°

(3) 120° (4) 30°

(5) Question not attempted
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